
Poêle SAMARA Référence: P914844 

 07/12/2021 

 

 

SAS C
arr

e-L
utz

https://carre-lutz.com/acatalog/Pieces-detachees-pour-appareils-Invicta-p1.html
https://clpieces.com/pi%C3%A8ces-detach%C3%A9es-pour-appareil-de-chauffage-invicta


Poêle SAMARA Référence: P914844 

 
 
 
 

Rep Nbr Désignation Référence 
  JOINT PORTE THERMOCORDE Ø8 Lg 2.1 m AI303008 
  JOINT VITRE THERMOCORDE 7x3 Lg 1,3 m AI010080 

1 4 TIRANT AS610103 

2 2 TIRANT AS610178 

3 1 MENTONNET AS610199 

4 3 CLAMS AS700180 

5 1 REGISTRE D’AIR SECONDAIRE AT610184 

6 1 CENDRIER AT620306 

7 8 RONDELLE M Ø6 BRUT AV4100060 

8 6 ECROU SECURITE M6 AV7040060 

9 2 ECROU BORGNE M6 BRUT AV7140060 

10 2 ECROU EMBASE M6 BRUT AV7220060 

11 1 VIS TH M6x30 BRUT AV8406300 

12 2 VIS FHC M6x25 INOX AV8636256 

13 2 VIS FHC M6x35 BRUT AV8636350 

14 3 VIS TCPZ M4x6 ZN AV8644067 

15 1 GOUJON M6x8 AV8706080 

16 1 VITRE AX601484 

17 1 POIGNEE F610185U 

18 1 REGISTRE D’AIR PRIMAIRE F610186U 

19 1 SOCLE F612651B 

20 1 FACADE F612652U 

21 1 GUIDE D’AIR F612653B 

22 1 PORTE F612654U 

23 1 FOND F612655B 

24 2 COTE F612656B 

25 1 DESSUS F612657U 

26 1 TAQUE F612658B 

27 2 DEMI DEFLECTEUR F612659B 

28 1 CHENET F612660B 

29 2 DEMI GRILLE-FOYERE F612661B 

SAS C
arr

e-L
utz


